Bitlis Eren Üniversitesi Fen Bilimleri Dergisi

BİTLİS EREN UNIVERSITY JOURNAL OF SCIENCE ISSN: 2147-3129/e-ISSN: 2147-3188 VOLUME: 12 NO: 1 PAGE: 93-96 YEAR: 2023 DOI:10.17798/bitlisfen.1192052



Evrim GÜVEN*

Kocaeli University, Faculty of Arts and Science, Department of Mathematics, KOCAELİ, (ORCID: 0000-0001-5256-4447)

Abstract



Keywords: Prime Ring, Lie Ideal, Derivation, Automorphism.

In this study, prime ring S, which has been accepted to have charS \neq 2 characteristic, has been supposed also to have automorphism of η , ξ , κ , ε , λ and μ . It was aimed to examine the derivatives and automorphisms that provide certain identities on the Lie ideals of prime rings.

1. Introduction

Let S be a ring, η , ξ , κ , ε , λ and μ are mappings of S, and Z(S) denotes the center of S. By a prime ring, we mean a ring S in which for every x,y \in S, xSy=(0) implies x=0 or y=0. The operation of xy-yx, represented by the [x, y] commutator, and the operation of xy+yx, represented by the (x, y) commutator, has been selected from the elements of S. Morever [x, y] η , ξ =x η (y)- ξ (y)x and (x, y]) η , ξ =x η (y)+ ξ (y)x for x,y \in S. For subsets M, N of S, let [M, N] η , ξ ={[x, y] η , ξ |x \in M and y \in N}.

The set K that satisfies the $[S, K] \subset K$ property is called a Lie ideal of S. Here, the set K is an additive subset of the ring S.

If $S = \left\{ \begin{pmatrix} x & y \\ z & t \end{pmatrix} | x, y, z, t \in \mathbb{Z} \right\}$ and $K = \left\{ \begin{pmatrix} x & y \\ z & x \end{pmatrix} | x, y, z \in \mathbb{Z} \right\}$ then K is a Lie ideal of S.

For all $x,y \in S$ when both conditions F(x+y)=F(x)+F(y) and F(xy)=F(x)y+xF(y) is satisfied, F mapping is called as a derivation of S. For all $x,y \in S$, when the condition of $d(xy)=d(x)\eta$ (y)+ $\xi(x)d(y)$, d mapping is called as a (η,ξ) -derivation of S.

Over the years, the commutativity of the rings has been investigated under certain derivative conditions. Various generalizations have been made in examining the commutativity of a ring under these conditions.On the other hand, these conditions, which are considered as d ordinary derivations, are examined in α - derivation, (σ,τ) - derivation.

On the other hand, the commutativity of the ring was investigated by taking its ideal and (or) Lie ideal instead of the R ring in these conditions. In 1970, I. N. Herstein verified the R ring is commutative if the condition $[d(S), d(S)] \subseteq Z(S)$ is met, where S is a prime ring and its characteristic is different from the value of 2. d is a derivative of the S ring and is nonzero [5]. In the same work, I.N. Herstein also proved that the S ring is commutative if the d(S) condition is satisfied. Later, J. Bergen et al. proved that K \subset Z(S) when d(K) \subset Z(S) and K is the Lie ideal of S that has a value other than 2 and S is a ring that is prime [6].

In this study, prime ring S, which has been accepted to have charS \neq 2 characteristic, has been supposed also to have automorphism of η , ξ , κ , ϵ , λ and μ . Z(S) will denote the centre of an associative ring and C η , ξ ={c \in S|c η (r)= ξ (r)c, \forall r \in S}. The equations frequently used in this study have been given below:

$$\begin{split} & [xy,z]\eta,\xi = x[y,z]\eta,\xi - [x,\xi(z)]y = x[y,\eta(z)] + [x, \\ & z]\eta,\xi y \\ & [x,yz]\eta,\xi = \xi(y)[x,z]\eta,\xi + [x,y]\eta,\xi\eta(z) \\ & (xy,z)\eta,\xi = x(y,z)\eta,\xi - [x,\xi(z)]y = x[y,\eta(z)] + (x, \\ \end{split}$$

z)η,ξy

 $(x,yz)\eta,\xi=\xi(y)(x, z)\eta,\xi+[x, y]\eta,\xi\eta(z)=\xi(y)[x, z]\eta,\xi+(x, y)\eta,\xi\eta(z)$

^{*} Corresponding author: evrim@kocaeli.edu.tr

Received: 21.10.2022, Accepted: 27.02.2023

2. Preliminary

Lemma 1 [1] If the condition $[[J, a]_{\eta,\xi}, b]_{\kappa,\epsilon}=0$ is provided for the nonzero J ideal of the S ring, then $[\xi(a), \epsilon(b)]$ becomes zero.

Lemma 2 [1] If the condition $[[a, J]_{\eta,\xi},b]_{\kappa,\epsilon}=0$ is provided for the nonzero J ideal of the S ring, then $[a, \xi^{-1}\epsilon(b)]_{\eta,\xi}$ becomes zero or $b\in Z(S)$.

Lemma 3 [2] If the condition $d(K) \subset C_{\kappa,\epsilon}(S)$ is provided for the nonzero Lie ideal K of the S ring and d is a nonzero (η, ξ) -derivation of S, then $K \subset Z(S)$.

Lemma 4 [2] If the condition $d(K) \subset C_{\kappa,\epsilon}(S)$ is provided for the nonzero Lie ideal K of the S ring then $a \in C_{\kappa,\epsilon}(S)$ or $K \subset Z(S)$.

Lemma 5 [2] Let d:S \rightarrow S be a nonzero (η , ξ)derivation and a \in S. If J is an ideal of S that is nonzero such that [d(J), a]_{κ,ϵ} \subset C_{κ,ϵ} (S) then a \in Z(S) or {d $\xi^{-1}\epsilon$ (a)=0 and d $\eta^{-1}\kappa$ (a)=0}.

Lemma 6 [2] If the condition $[a, d(J)]_{\kappa,\varepsilon} \subset C_{\lambda,\mu}(S)$ is provided for the nonzero ideal J of the S ring and d is a nonzero (η, ξ) -derivation of S and also $d\eta=\eta d$, $d\xi=\xi d$ then $a\in C_{\kappa,\varepsilon}(S)$ or S is commutative.

3. Automorphisms with Lie İdeals

Let T:S \rightarrow S be a nonzero automorphism and d:S \rightarrow S a nonzero (η , ξ)-derivation. Let K be a nonzero Lie ideal of S. In this note, some results on automorphisms and Lie ideals of prime rings have been proven as seen below.

Lemma 7 Let T be an automorphism of S and a, b \in S. (i) $a\in C_{\kappa T, \varepsilon T}(S)$ if and only if $a\in C_{\kappa, \varepsilon}(S)$,

(ii) $T(a)\in C_{\kappa,\epsilon}(S) \Leftrightarrow a\in C_{T^{-1}\kappa, T^{-1}\epsilon}(S),$

 $\textbf{(iii)} \ [T(a),b]_{\kappa,\epsilon} \in C_{\lambda,\mu}(S) \Leftrightarrow [a,b]_{T^{-1}\kappa,T^{-1}\epsilon} \in C_{T^{-1}\lambda,T^{-1}\mu}(S),$

(iv) If $C_{\lambda,\mu}(S)=0$ then $C_{T\lambda,T\mu}(S)=0$,

 $(\mathbf{v}) \ (T(a), b)_{\kappa, \epsilon} \in C_{\lambda, \mu}(S) \Leftrightarrow (a, b)_{T^{-1}\kappa, T^{-1}\epsilon} \in C_{T^{-1}\lambda, T^{-1}\mu}(S).$

Proof

$$\begin{split} (i) & a \in C_{\kappa T, \epsilon T}(S) \Leftrightarrow a \kappa T(r) \cdot \epsilon T(r) a = 0, \forall r \in S \Leftrightarrow [a, \\ T(S)]_{\kappa, \epsilon} = 0 \Leftrightarrow [a, S]_{\kappa, \epsilon} = 0 \Leftrightarrow a \in C_{\kappa, \epsilon}(S). \\ (ii) & T(a) \in C_{\kappa, \epsilon}(S \Leftrightarrow T(a) \kappa(r) \cdot \epsilon(r) T(a) = 0, \forall r \in S \\ \Leftrightarrow & T(a T^{-1} \kappa(r) \cdot T^{-1} \epsilon(r) a) = 0, \forall r \in S \\ \Leftrightarrow & a T^{-1} \kappa(r) \cdot T^{-1} \epsilon(r) a = 0, \forall r \in S \\ \Leftrightarrow & a \in C_{T^{-1} \kappa, T^{-1} \epsilon}(S) \\ (iii) & T(a) \kappa(b) \cdot \epsilon(b) T(a) \in C_{\lambda, \mu}(S) \\ \Leftrightarrow & T(a T^{-1} \kappa(b) \cdot T^{-1} \epsilon(b) a) \in C_{\lambda, \mu}(S) \end{split}$$

 $\Leftrightarrow (aT^{-1}\kappa(b)-T^{-1}\varepsilon(b)a)\in C_{T^{-1}\lambda,T^{-1}\mu}(S) \text{ by } (ii)$ $\Leftrightarrow [a, b]_{T^{-1}\kappa, T^{-1}\epsilon} \in C_{T^{-1}\lambda, T^{-1}\mu}(S) .$ (iv) Let $C_{\lambda,\mu}(S)=0$. Then for any $a\in C_{T\lambda T,\mu}(S)$, $aT\lambda(r)$ - $T\mu(r)a=0, \forall r \in S$ \Rightarrow T⁻¹(a) λ (r)- μ (r)T⁻¹(a)=0, \forall r \in S \Rightarrow [T⁻¹(a), S]_{λ,μ}=0 \Rightarrow T⁻¹(a) \in C_{λ,μ}(S)=0 \Rightarrow T⁻¹(a)=0 $\Rightarrow a=0$ $\Rightarrow C_{T\lambda T\mu}(S)=0.$ On the other hand let $C_{T\lambda T,\mu}(S)=0$. Then we get $b \in C_{\lambda,\mu}(S)$ \Rightarrow b λ (r)- μ (r)b=0, \forall r \in S \Rightarrow T(b)T λ (r)-T μ (r)T(b))=0, \forall r \in S \Rightarrow T(b) \in C_{T λ ,T μ}(S)=0 \Rightarrow T(b)=0 \Rightarrow b=0 $\Rightarrow C_{\lambda,\mu}(S)=0$ (v) $(T(a), b)_{\kappa,\epsilon} \in C_{\lambda,\mu}(S)$ \Leftrightarrow T(a) κ (b)+ ϵ (b)T(a) \in C_{λ,μ}(S) $\Leftrightarrow T(aT^{-1}\kappa(b)+T^{-1}\varepsilon(b)a)\in C_{\lambda,\mu}(S)$ $\Leftrightarrow (aT^{-1}\kappa(b)+T^{-1}\varepsilon(b)a)\in C_{T^{-1}\lambda,T^{-1}\mu}(S)$ by (ii) $\Leftrightarrow (a, b)_{T^{-1}\kappa, T^{-1}\epsilon} \in C_{T^{-1}\lambda, T^{-1}\mu}(S) .$

Lemma 8 Let $T:S \rightarrow S$ be a ring automorphism and a, b, $c \in S$. The equations that have been given below are true.

(i) $T[a, b]_{\kappa,\epsilon} = [T(a), b]_{T\kappa,T\epsilon},$ (ii) $T(C_{\kappa,\epsilon}(S)) = C_{T\kappa,T\epsilon}(S),$ (iii) $[a, T(b)]_{\kappa,\epsilon} = [a, b]_{\kappa T,\epsilon T,},$ (iv) $(a, T(b))_{\kappa,\epsilon} = (a, b)_{\kappa T,\epsilon T,},$ (v) $(T(a), b)_{\kappa,\epsilon} = T(a, b)_{T^{-1}\kappa,T^{-1}\epsilon}.$

Proof

(i) T[a, $b]_{\kappa,\epsilon} = T(a\kappa(b) - \epsilon(b)a) = T(a)T\kappa(b)$ - $T\varepsilon(b)T(a)=[T(a), b]_{T\kappa,T\epsilon}$ (ii) $x \in T(C_{\kappa,\varepsilon}(S))$ \Rightarrow x=T(a), a $\in C_{\kappa,\epsilon}(S)$ \Rightarrow T⁻¹(x)=a, a $\in C_{\kappa,\varepsilon}(S)$ \Rightarrow T⁻¹(x) \in C_{κ,ϵ}(S) If we use (iii), $x \in C_{T\kappa,T\epsilon}(S)$. On the other hand if $y \in C_{T\kappa,T\epsilon}(S)$ then $yT\kappa(r)$ - $T\epsilon(r)y=0, \forall r \in S$. Since T is an automorphism then we get $T^{-1}(y)\kappa(r)$ - $\varepsilon(\mathbf{r})T^{-1}(\mathbf{y})=0, \forall \mathbf{r}\in S$. That is $T^{-1}(\mathbf{y})\in C_{\kappa,\varepsilon}(S)$. This implies that $y \in T(C_{\kappa,\varepsilon}(S))$. (iii) [a, T(b)]_{κ,ϵ}=a κ T(b)- ϵ T(b)a=[a, b]_{κ T, ϵ T} (iv) (a, T(b))_{κ,ϵ}=a κ T(b)+ ϵ T(b)a=(a, b)_{κ T, ϵ T} (T(a), (\mathbf{v}) b)_{κ,ϵ}=T(a) κ (b)+ ϵ (b)T(a)=T(aT⁻¹ κ (b)+T⁻¹ ϵ (b)a)=T(a, b) $T^{-1}\kappa, T^{-1}\varepsilon$

Theorem 1 Let T be an automorphism of a ring S. Let K be a Lie ideal of S.

(i) If $T(K) \subset C_{\kappa,\varepsilon}(S)$ then $K \subset Z(S)$.

(ii) If $[T(K), a]_{\kappa,\epsilon} \subset C_{\lambda,\mu}(S)$ then $a \in Z(S)$ or $K \subset Z(S)$. (iii) If $[a, T(K)]_{\kappa,\epsilon} \subset C_{\lambda,\mu}(S)$ then $a \in C_{\kappa,\epsilon}(S)$ or $K \subset Z(S)$. (iv) If $(T(K), a)_{\kappa,\epsilon} = 0$ then $a \in Z(S)$ or $K \subset Z(S)$.

(v) If $(a, T(K))_{\kappa,\epsilon}=0$ then $a \in Z(S)$ or $K \subset Z(S)$.

Proof

(i) Let $T(K) \subset C_{\kappa,\varepsilon}(S)$. Then $K \subset C_{\lambda,\mu}(S)$ is obtained by Lemma 7 (ii), where $\lambda = T^{-1}\kappa$ and $\mu = T^{-1}\varepsilon$. That is [K, S]_{\lambda,\mu}=0. Here $T^{-1}\kappa$ and $T^{-1}\varepsilon$ are automorphisms of S and [[S, K], S]_{\lambda,\mu}=0. If we use Lemma 1 then we obtain that [K, $\varepsilon(S)$]=0 and so $K \subset Z(S)$.

(ii) Let K is a Lie ideal of R and $[T(K), a]_{\kappa,\varepsilon} \subset C_{\lambda,\mu}(S)$. Then we have $[K, a]_{T^{-1}\kappa, T^{-1}\varepsilon} \subset C_{T^{-1}\lambda, T^{-1}\mu}(S)$ by Lemma 7 (iii). This gives that $[[S, K], a]_{\phi,\theta} \subset C_{\lambda,\mu}(S)$, where $\phi=T^{-1}\kappa$ and $\theta=T^{-1}\varepsilon$ and so $[d(S), a]_{\phi,\theta} \subset C_{\lambda,\mu}(S)$ where $d(r)=[v, r], \forall r \in S$ is a derivation. If we use Lemma 5 then we obtain that $a \in Z(R)$ or $d\phi^{-1}\mu(a)=0$. That is $a \in Z(S)$ or $[v, \phi^{-1}\mu(a)]=0$. Considering same argument for all $v \in K$ we get

 $a \in Z(S)$ or $[K, \phi^{-1}\mu(a)]=0$.

If $[K, \phi^{-1}\mu(a)]=0$ then $a \in Z(S)$ or $K \subset Z(S)$ by [1].

(iii) If $[a,T(K)]_{\kappa,\varepsilon} \subset C_{\lambda,\mu}(S)$ then we have $[a, K]_{\kappa,\varepsilon} \subset C_{\lambda T,\mu T}(S)$ by Lemma 8 (iii). This means that $a \in C_{\kappa,\varepsilon}(S)$ or $K \subset Z(S)$ by Lemma 4.

(iv) Let $(T(K), a)_{\kappa,\epsilon}=0$. Then we have $(K, a)_{T^{-1}\kappa,T^{-1}\epsilon}=0$ by Lemma 8 (v). This means that $a\in Z(S)$ or $K\subset Z(S)$ by Corollary 2.

(v) $(a,T(K))_{\kappa,\epsilon}=0$ implies that $(a, K)_{\kappa T,\epsilon T}=0$ by Lemma 8 (iv). Considering Corollary 2 we obtain that $a\in C_{\kappa T,\epsilon T}(S)$ or $K\subset Z(S)$. If $a\in C_{\kappa T,\epsilon T}(S)$ then [a, $K]_{\kappa T,\epsilon T}=0$ and so $a\in C_{\kappa,\epsilon}(S)$ or $K\subset Z(S)$ by Lemma 4.

Corollary 1 Let $T:S \rightarrow S$ be a nonzero automorphism and K, L nonzero Lie ideals of S.

(i) If $[T(K), K]_{\kappa,\epsilon} \subset C_{\lambda,\mu}(S)$ then $K \subset Z(S)$.

(ii) If $[K, T(K)]_{\kappa,\epsilon} \subset C_{\lambda,\mu}(S)$ then $K \subset C_{\kappa,\epsilon}(S)$ or $K \subset Z(S)$. (iii) If $[K, L]_{\kappa,\epsilon} \subset C_{\lambda,\mu}(S)$ then $K \subset Z(S)$ or $L \subset Z(S)$.

Proof

(i) Let $[T(K), K]_{\kappa,\epsilon} \subset C_{\lambda,\mu}(S)$. Then we have $T(K) \subset C_{\kappa,\epsilon}$ or $K \subset Z(S)$ by Lemma 4. If $T(K) \subset C_{\kappa,\epsilon}(S)$ then $K \subset Z(S)$ by Theorem 1 (i).

(ii) [K, T(K)] $_{\kappa,\epsilon} \subset C_{\lambda,\mu}(S) \Rightarrow K \subset C_{\kappa,\epsilon}(S)$ or $K \subset Z(S)$ by Theorem 1(iii). If $K \subset C_{\kappa,\epsilon}(S)$ then [[S, K], S] $_{\kappa,\epsilon} = 0$.

This implies that $[K, \xi^{-1}\varepsilon(S)]=0$ by Lemma 1. That is $K \subset Z(S)$.

(iii) If we use Lemma 4 then we have $K \subset C_{\kappa,\epsilon}(S)$ or $L \subset Z(S)$. Considering in the proof of the (ii) we get $K \subset Z(S)$ or $L \subset Z(S)$.

Theorem 2 Let K be a nonzero Lie ideal of S. Let T:S \rightarrow S be a nonzero automorphism and d:S \rightarrow S a nonzero (η , ξ)-derivation.

(i) If $[T(K), d(K)]_{\kappa,\varepsilon} \subset C_{\lambda,\mu}(S)$ then $K \subset Z(S)$. (ii) If $[d(K), T(K)]_{\kappa,\varepsilon} \subset C_{\lambda,\mu}(S)$ then $K \subset Z(S)$. (iii) If $(T(K), d(K))_{\kappa,\varepsilon} = 0$ then $K \subset Z(S)$. (iv) If $(d(K), T(K))_{\kappa,\varepsilon} = 0$ then $K \subset Z(S)$.

Proof

(i) Let $[T(K), d(K)]_{\kappa,\epsilon} \subset C_{\lambda,\mu}(S)$. Then we have $d(K) \subset Z(S)$ or $K \subset Z(S)$ by Theorem 1 (ii). Considering [4] we obtain that, $K \subset Z(S)$ finally.

(ii) Let $[d(K), T(K)]_{\kappa,\epsilon} \subset C_{\lambda,\mu}(S)$. Using Theorem 1 (iii), we clearly see $K \subset Z(S)$.

(iii) Let $(T(K), d(K))_{\kappa,\epsilon}=0$. In this case, we get $d(K) \subset Z(S)$ or $K \subset Z(S)$ by Theorem 1 (ii). Considering [4] we obtain that, $K \subset Z(S)$.

(iv) Suppose that $(d(K), T(K))_{\kappa,\epsilon}=0$. Then we have $K \subset Z(S)$ by Theorem 1(ii).

4. Conclusion and Suggestions

In this paper, in the section named "Automorphisms with Lie İdeals", algebraic identities, including derivations on the prime ring, discuss, and we obtain derivations information.

We also examine algebraic identities involving derivations on the Lie ideal of the prime ring. We prove that the Lie ideal, which satisfies the identities discussed in the section, is obtained in the center of the prime ring.

In future studies, the hypotheses in this study can examine using homoderivations or semiderivations of the prime ring.

Acknowledgment

The author is thankful to the referee for his/her valuable suggestions.

Statement of Research and Publication Ethics

The study is complied with research and publication ethics

References

- E. Güven, K. Kaya and M. Soytürk, "Some Results on (σ,τ)-Lie Ideals", *Math. J. Okayama Univ.*, 49, pp. 59-64, 2007.
- [2] E. Güven, "Lie Ideals in Prime Rings with (σ,τ) -Derivation", *Int. journal of Algebra*, pp. 857-862, 2009.
- [3] N. Aydın and K. Kaya, "Some Generalization in Prime Rings with (σ, τ)-Derivations", *Doğa-Tr.J.of Mathematics*, 16, pp. 169-176, 1992.
- [4] H. Kandamar and K. Kaya, "Lie Ideals and (σ, τ) -Derivation in Prime Rings", *Hacettepe Bull.Nat. Sci. Eng.*, Vol. 21, pp. 29-33, 1992.
- [5] I. N. Herstein, "On the Lie Structure of an Assosiative Rings", *Journal of Algebra*, 14, pp. 561-571, 1970.
- [6] J. Bergen, I. N. Herstein and J. W. Kerr, "Lie Ideals and Derivation of Prime Rings", *Journal* of Algebra, 71, pp. 259-267, 1981.
- [7] E. C. Posner, "Derivations in prime rings", Proc. Amer. Math. Soc., 8, pp. 1093–1100, 1957.
- [8] J. H. Mayne, "Centralizing automorphisms of prime rings", *Canad. Math. Bull.*, 19, 1976, no. 1, pp. 113–115, 1976.
- [9] A. Rezi and M. Allam, "Techniques in array processing by means of transformations," in *Control and Dynamic Systems*, Vol. 69, Multidemsional Systems, C. T. Leondes, Ed. San Diego: Academic Press, 1995, pp. 133-180.
- [10] O. B. R. Strimpel, "Computer graphics," in *McGraw-Hill Encyclopedia of Science and Technology*, 8th ed., Vol. 4. New York: McGraw-Hill, 1997, pp. 279-283.
- [11] W.-K. Chen, *Linear Networks and Systems*. Belmont, CA: Wadsworth, 1993, pp. 123-135.
- [12] J. Vukman, "Identities with derivations and automorphisms on semiprime rings", *IJMMS*, 2005, pp. 1031-1038.